a(0 @) (raqd)

1072

SICEWATL

1072

Ratio

owp./p,)

1072

Ratio

JEny
S
[

=
<
-

|
W[

1 2 3
TP n (PCA to beamline)

a(d cot(d))

102k

o Lz ‘ ]
T 14 s qn ] b
x ; 1 i
1 L L :
Bl i

o
| _© ;
wIIIIIIIIIIIIIIIIIII TTITIT

-2 -1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

TR

J11H

b3 L - A - R L H
1 4 3 b
-F- “F4-t2H- - - - 2 |44

=

W

-2 -1 0 1 2 3
TP n (PCA to beamline)

1.z

[y

0.8

T

|
w

-2 -1 0 1 2 3
TP n (PCA to beamline)

~ 1

g F=

e C

> [

5 ;

107 BT

1072kl iy :

010 gl b L L L L

T L2 {{Hh : y : I

o [ : ! : :
]
08372 1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


